
Dexter bakes 5 cakes for a Comic Relief bake sale.

The ingredients to bake A, B and C cost £14.60
The ingredients to bake B, C and D cost £13.43
The ingredients to bake C, D and E cost £16.25

How much did the ingredients cost for each cake?

Each cake can be cut into 8 equal slices.
Each slice is sold for £1.70
Work out the percentage profit for each cake.

A B C D E



Answers

  A = £3.20        B = £5.35      C = £6.05         D = £2.03        E = £8.17

A 325%   B 154%   C 125%   D 570%    E 66%  
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